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The Toilet Paper : September

The Sofa Project

The Union Days 

Insparken 2015 Association Fair 
Everything you want to do, you can 
do in Malmö! Find your new hobby 
at the association fair “Open your 
eyes”. September 23rd between 10:00 
- 14:00 at Niagara. Meet over 40 
NGOs, sports clubs and educational 
associations. Find out more at mah.se.

Do not miss the opportunity to get to know 
new friends and participate in a variety 
of  fun activities during the two initiation 
weeks! “Insparken” begins September 1st, 
get the full schedule at festmesteriet.se

During the Union days you get the 
opportunity to meet some of Malmö’s 
organizations and companies, the University 
services and the Union. We’ll visit your faculty 
for a whole day and offer refreshments, 
free stuff, inspiration and candy. The 
fair is open between 10:00 to 14:00.

Date for the Union days: Orkanen 8/9, 
9/9 Niagara, Health and Society 10/9.

You now have the opportunity to apply for 
the Student Union’s literary scholarship 
- a contribution of  500 SEK to use for 
textbook purchases awarded to three 
Union members. Apply before September 
20th. More info at malmostudenter.se.

Soup lunch
Literary scholarship

Do you have a spare couch? Do a good 
deed and rent it to a student! The Sofa 
Project mediates contact between people 
who have a spare sofa or bed to let and 
students who need to find somewhere 
to sleep. There are many students who 
turn to us right now, and we need your 
help to help us provide these students 
with a temporary accommodation. You 
offer a sofa/bed in your own home for a 
few days/weeks. It is up to you to decide 
any rent (we recommend under SEK  
500 / week). Register on our website: 
malmostudenter.se/nystudent/soffprojektet. 
Need a place to sleep? Register at 
malmostudenter.se/nystudent/soffprojektet.

The first Music Picnic for this semes-
ter will be held September 25th. Bring 
your own picnic and come to a night 
filled with music! We begin at 18:00 with 
an open stage for those who dare! First 
band plays at 19:00. We offer free snacks! 
Location: Kølsvinet, Bassängkajen 8.

Music Picnic

The cheapest lunch in Malmö is served at 
the Union! Every Wednesday between 
12-13 we have a soup lunch in Kølsvinet 
that you definitely can afford! For only 
15 SEK members of  the Student Union 
Malmö can buy vegetarian soup incl. 
bread and coffee. The first soup lunch this 
semester will be held on September 16th.


